1/0 do/dN,

=
S
[BEY

Ratio to ATLAS

=

1072

1073

[EEY

0.5

7000 GeV pp Soft QCD
(T r T rrroro oo r o T e e T T o
= L 3G
= Charged multlpI|C|ty(NCh >20, p_> 0.1 GeV) 32
B 1=
- <

Lo
= — N
- =)
<
—™
B o
=
= =T
= =1
— —H ™M
— o<
— ey
- — ©
o
— —1M
o
— — .=
= m  ATLAS ek
— --f3-- Herwig 7.2.0 default J=
— —a— Pythia 8.180 default =
— ¢ Sherpa 1.2.2p default — §
- ks
- 18
L | | | | | | | | | | | | | | I IR | ] -
e L L L L
— -2
— L 3
— T 7
— o ]
T | T g WY ] 1
| —0.5
L L L | L L L P R L L P R L L L
50 100 150 200
N



	Contents
	Page 1


